Hex Head Cap Screws

Features

® No burrs and sharp edges

e Screw material: A2 stainless steel

e Passivated finish

¢ Material and finish comply with 211/65/EU (RoHS)
* Meets DIN 912 standard

Length L Thread ] PART NO.
3 2.8~3.2 (6g)
4 3.76~4.24 4 | RND 610-00492
5 4.76~5.24 6 | RND 610-00493
6 5.76~6.24 M2x0.4 8 RND 610-00494
8 7.71~8.29 10 | RND 610-00490
10 9.71~10.29 12 RND 610-00491
12 |11.65~12.35 4 | RND 610-00497
14 |13.65~14.35 6 | RND 610-00498
16 |15.65~16.35 M2.5x0.45 8 | RND 610-00499
20 [19.58~20.42 10 | RND 610-00495
25 |24.58~25.42 12 | RND 610-00496
30 {29.58~30.42 6 | RND 610-00504
35 | 34.5~355 8 | RND 610-00505
40 | 39.5~40.5 M3x0.5 10 | RND 610-00500
45 | 44.5~455 12 | RND 610-00501
50 | 49.5~50.5 16 | RND 610-00502
55 | 54.4~55.6 20 | RND 610-00503
59.4~60.6 10 | RND 610-00506
= M4x0.7 12 | RND 610-00507
M5x0.8 25 | RND 610-00508
30 | RND 610-00509

RND is a trademark of Distrelec

CKIUSIR 5 |
e ISR SIS | 1SR 183K { ¢y
awminEnto HIncYHoch MOHCHMmOM N MéoHYImo0C necn
awmicEntop HoycYoonn moncYmicn MOpHYMIpC nTn
aHEnmn otcHYotyn mdycYHinn MOpHYUMIpC e
aHipENnp nvoHYndpn HYoCYHIpN HONHYHONC MM
aokbnip pYoHYpIpN HoycYoonn HOpHYHOpY Moon
anknt coTydTonn odyHdAnenn onHYo0ny HONN
apknty YOHYYyopn noyHdponn nonHNYnongp HOpN
ackmn Ty Ymnonn ptTndconn pOnHYpOMN oonn
ayEmup MHITOYMOMNN TocnYyonn conHYcomn nenn
amnEmip MpéToYmMcinn docnYmnonn VOIHPYYyIMTP ponn
amHEMITp MTOTOYMYONN MMOPTAMHON | MAGAHPYMAIMTP | conin
Theesd | L | ParTNO. > 21 d
g) .I_r_
10 RND 610-00510 1 |
16 | RND 610-00511 £ ) H B
Moo |20 | RND610-00512 \sa )
25 RND 610-00513
30 RND 610-00514
40 | RND 610-00515 D H L




	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



